
Page 1 of 4

HARDWARE LIST

No Description Sketch Q'TY

1PCAllen Wrench 4mmA

B

C

D

8PCSBolt Ø5/16x110mm

Lock Washer Ø5/16x12mm

Flat Washer Ø5/16x19mm 20PCS

E 20PCS

Assembly Instruction
Item No: DLOD#86T & DLOD#86B

    Description :  DINING TABLE TOP 42X86-110 IN. WITH BUTTERFLY LEAF
& DINING TABLE BASE

Parker House
FURNITURE

F

8PCSBolt Ø5/16x85mm

4PCSBolt Ø5/16x40mm

STRETCHER (1PC)

FRAME LEG (2PCS)

ANGLE STRETCHER
(2PCS)

TABLE TOP (1PC)

1 3

4

DLOD#86T DINING TABLE TOP 42X86-110
IN. WITH BUTTERFLY LEAF

2

DLOD#86B DINING TABLE BASE

PART LIST

SIDE STRETCHER
(2PCS)

5

HARDWARE

Hardware
packs

DLOD#86T DINING TABLE TOP 42X86-110
IN. WITH BUTTERFLY LEAF

Hardware pack
is screwed here

Side stretcher
pack is here

Stretcher
pack is screwed here

Angle stretcher
pack is here

2022-04-05



Page 2 of 4

STEP 1

STEP 2

* Do not tighten screws & bolts

Parker House
FURNITURE

A

C

E

F

F E
D

A

1

2

5

* Do not tighten screws & bolts

Assembly Instruction
Item No: DLOD#86T & DLOD#86B

    Description :  DINING TABLE TOP 42X86-110 IN. WITH BUTTERFLY LEAF
& DINING TABLE BASE 2022-04-05



Page 3 of 4

STEP 3

STEP 4

* Do not tighten screws & bolts

* Tighten all screws & bolts

Parker House
FURNITURE

A

B

E

F

F E
D

A

3

2

4

A

C

E

F

A

B

E

F

Assembly Instruction
Item No: DLOD#86T & DLOD#86B

    Description :  DINING TABLE TOP 42X86-110 IN. WITH BUTTERFLY LEAF
& DINING TABLE BASE

A

B

E

F

2022-04-05



Page 4 of 4

STEP 5

STEP 6

Parker House
FURNITURE

OPEN

LOCK

OPEN

LOCK

Assembly Instruction
Item No: DLOD#86T & DLOD#86B

    Description :  DINING TABLE TOP 42X86-110 IN. WITH BUTTERFLY LEAF
& DINING TABLE BASE 2022-04-05

Assembled leveler = 4PCS


	AI_DLOD Model (1)
	AI_DLOD Model (1)
	AI_DLOD Model (1)
	AI_DLOD Model (1)

